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QUESTION 1

Which of the following best describes what mysqldumpslow does and how to use it? 

A. It shows a summary of the slow log contents. 

B. It dumps the contents of the slow log into a readable format. 

C. shell> mysqldumpslow log_name 

D. shell> mysqldumpslow 

Correct Answer: B 

 

QUESTION 2

When working with replication, why might you want to stop the SQL thread on the slave while keeping the I/O thread
running? 

A. So that no changes are made while making backups. 

B. So that events for the slave do not get backlogged on the master. 

C. So that remaining events can be processed while not receiving new events from the master. 

Correct Answer: C 

 

QUESTION 3

Which of the following would be considered a good candidate table for compression? 

A. A table with data that needs only few updates in the future. 

B. A table with data that will not be updated in the future. 

C. A large table, such as those used for data warehousing. 

D. All MyISAM tables are good candidates for compression. 

Correct Answer: B 

 

QUESTION 4

When choosing hardware for your MySQL server, is memory important to MySQL and why? 

A. No, because MySQL makes use of virtual memory on disks. 

B. No, because MySQL makes more use of disks and processors than memory. 
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C. Yes, because more memory allows for less swapping by the operating system. 

D. Yes, because more memory allows for larger buffers improving caching and reducing disk usage. 

Correct Answer: D 

 

QUESTION 5

Which are the effects of the following statement mysql> SET GLOBAL query_cache_limit = 2097152; 

A. Query results need to be at least 2MB in size to be cached in the Query Cache. 

B. Query results up to 2MB will be cached in the Query Cache. 

C. The total size of cached queries will be limited to 2MB. 

D. The statement will generate an error because query_cache_limit can only be set for a single connection. 

Correct Answer: B 
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